
n]vf kl/If0f gePsf] -?= nfvdf_

 klxnf] q}dfl;s 

! >f]t -!=! b]lv !=$ ;Dd_                  455,524.78 
!=! r'Qmf k"FhL                     199,262.52 
!=@ hu]8f tyf sf]if                     172,331.57 
!=# aLdf sf]if                      83,760.95 
!=$ dxf–ljkQL hu]8f sf]if                            93.12 
!=% ltg{ afFsL lb3{sflng C0f tyf ;fk6L                            76.62 
@= pkof]u -@=!+@=%_                  455,524.78 
@=! l:y/ ;DklQ -v'b_                     23,442.40 
@=@ lb3{sflng nufgL tyf shf{                      90,351.89 
@=# v'b rfn' ;DklQ -# – $_                   341,730.49 
@=$ ckn]vg jf ;dfof]hg x'g afFsL ljljw vr{                                -   
@=% gfkmf gf]S;fg lx;fjaf6 ;f/]sf] gf]S;fg                                -   
# rfn' ;DklQ shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_                  654,957.04 
#=! gub tyf a}+s df}Hbft                    45,194.84 
#=@ cNksflng nufgL tyf shf{                    422,016.19 
#=# cGo ;DklQ                    187,746.01 
$= rfn' bfloTj tyf Aoj:yfx? -$=! b]lv $=$ ;Dd_                    313,226.55 
$=! rfn' bfloTj                      81,108.65 
$=@ c;dfKt hf]lvd jfkt Aoj:yf                      89,691.56 
$=# e'QmfgL x'g afFsL bfjL jfkt Joj:yf                     61,889.64 
$=$ cGo Aoj:yf                      80,536.69 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfDbfgL -!=! b]lv !=$ ;Dd_                    17,052.55 
!=! cfo Aoo lx;fjaf6 ;f/]sf] gfkmf gf]S;fg                       9,512.48 
!=@ nufgL shf{ tyf cGoaf6 cfo                        6,881.13 
!=# Aoj:yf lkmtf{                          645.93 
!=$ cGo cfDbfgL                            13.01 
@ Aoj:yf tyf vr{x? -@=! b]lv @=& ;Dd_                      8,119.07 
@=! Aoj:yfkg vr{                        1,167.25 
@=@ ckn]vg vr{                             5.26 
@=# cGo vr{                          534.86 
@=$ gf]S;fgLsf] nflu Aoj:yf                          228.36 
@=% sd{rf/L cfjf; Aoj:Yff                                -   
@=^ sd{rf/L af]g; Aoj:Yff                        1,403.33 
@=& cfos/                       4,780.01 

v'b gfkmf÷gf]S;fg -! – @=_                      8,933.47 

qm=;++ ljj/0f  klxnf] q}dfl;s 

! cfo -!=! – !=^ ;Dd_                   185,353.59 
!=! aLdfz'Ns -v'b_                     43,998.69 
!=@ k'gaL{df sldzg cfo                     12,480.72 
!=# nufgL, shf{ tyf cGoaf6 cfo                        3,947.33 
!=$ cGo k|ToIf cfo                           137.12 
!=% q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                      62,229.88 
!=^ q}dfl;ssf] z'?sf] c;dfKt hf]lvd afkt Joj:yf                      62,559.85 
@ Aoo -@=! – @=* ;Dd_                   175,841.10 
@=! bfjL e'QmfgL -v'b_                      16,650.84 
@=@ clestf{ sldzg                       1,486.76 
@=# k'gaL{df sldzg vr{                           40.69 
@=$ ;]jf z'Ns -v'b_                         458.07 
@=% cGo k|ToIf vr{                            51.55 
@=^ Aoj:yfkg vr{                      11,064.24 
@=& q}dfl;ssf] cGTosf] e'QmfgL x'g afFsL bfjL jfkt Aoj:yf                      61,889.65 
@=* q}dfl;ssf] cGTosf] c;dfKt hf]lvd jfkt Aoj:yf                     84,199.30 
# gfkmf gf]S;fg lx;fadf ;f/]sf] art÷gf]S;fg jrt -!_ - -@_                      9,512.49 

qm=;++ ljj/0f  klxnf] q}dfl;s 

!= s'n aLdfz'Ns cfh{g -?= nfvdf_ -o; jif{sf]_                     97,070.45 
@= hf/L aLDffn]vsf] ;+Vof                        683,906 
#= gjLs/0f aLdfn]]vsf] ;+Vof                        155,492 
$= s'n bfjL e'QmfgL /sd -?=nfvdf_                       35,361.01 
%= s'n bfjL e'QmfgL ;+Vofdf                          29,469 
^= e'QmfgL x'g afFsL bfjL /sd -?=nfvdf_                    230,709.06 
&= e'QmfgL x'g afFsL bfjL ;+Vofdf                        105,879 

Plss[t cfo Aoo lx;fj

cGo

lghL{jg aLdf Aoj;fo ug]{ aLdsx?sf] 

cf=a=2078÷79 sf] klxnf] q}dfl;s;Ddsf] ljQLo kl/)ffd
jf;nft

qm=;++
ljj/0f

gfkmf–gf]S;fg lx;fj


